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Find (f + g)(x), (f - g)(x), (f - g)(x), and (f/g )(x) for each f(x) and g(x). Indicate any restrictions in domain or range.

(gl ol Jlonedl e 208 i 2950 wdy .8() o fX) 3o uss (f)(x) 2 {fxQ)x) o ([F— Q)+ 2X) il an

1) f(x)=x+2 g(x) =3x-1

2) f(x)=x%-5 X)=-X+8 OKn{0
) T(x) g(X) ?5@
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For each pair of functions, find f o g and g o f, if they exist. State the domain and range for each c;r;posedﬁfunctlon
3) f={2,5),(6,10),(12,9), (7, 6)} g={09,11), (6, 15), (10, 13), (5, 8)}

4) [=154),(14,8),(12,1), (0,-3);y  £={(-2,-4),(3,2),(-1,4), (5, - 6);

WS o W15 S gaedly Jlowed) a3 90r g0 <OlS 131 [gOf](x) o [f 0 gJ(X) iend o
Find [f o g]l(x) and [g o fl(x), if they exist. State the domain and range for each composed function

ion.  (@35i(0)
5) fix) =-3x E"’m
2(X)=5x=6 —
6 fv) =x+4

gx)=x2+3x-10
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A=1{(1,05), (2 6), (3, 7} B=1{(5,1", (6, 2), (7, 3)}
Find the inverse of each relation. b leo ddile JS yugSee a>

I) {(_99 10)9 (15 . 3)9 (89 - 5)} —

2) {(_29 9)3 (45 _1)9 (_79 9)9 (79 0)}

usSas HlS LuSe Ligl i) ,ne deaSad) Jladdl o a5, zlo5¥) Lo ul3Mal) L3 Jlsd) ga LS,
FUX) 5,00 o fX) Ao
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Find the inverse of each function. Then graph the function and its inverse. (8)=C) @
e R
4) g(x) =4x—6 5) h(x) =x*-3 IO
Y g
F'Yj 4+Y
<+ ; r ;
Y Y
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Determine whether each pair of functions are inverse functions. Write yes or no.

6) fix)=x-17 gx)=x+7
T fe) = px + o ) =2x—3 @Qd'@
OFy a3
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Identify the domain and range of each function. Al JsJ saadly Jlaall s3>

2) fix) =vVx-—5 3) ix) =\Vx+8 — 2

16) ) =Vx+2+5 18) frd = —Vx—6+5 @O
Beos
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Graph each function. State the domain and range.
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25. flx) = 2V/x 6 26. flx) = Vx+12+3 o
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9. flx) =v/x +4 11 fx)< 22vVx+3
i x
i :
Y 4
=
@ uql@
X So0T
@_?‘..‘.f‘"
37. y= 6 — 3Vx — 4 38. y<V4x—-12+38
F 3 y
1
‘ x
Y * v ;
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Simplify. Jasy
1. £y 1003/8 2. —V49udp'?
(y — 6)8 4. \/16g'n2
5. \/—16y* 6. \/64(2y + 1)18
26. \/—(y—9)° 35. /324551
50. {/—16x16y8 54. \/—(y — 2)15 K710
Pe?oss)
©FET

Use a calculator to approximate each value to three decimal places.

7. /58 8. — 9. v/—43 10. /71
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PRECISION Simplify.

<

3.

2

Joswy ddall

4 5x

8y

11




050-2509447 EIQ P el e el i 5 ol f'?i
PRECISION Simplify. N |
6. 4V545 - V1254 7. 33/36xy - 24/ 622>
8. \/3x%y% « \[27xy? 9. 532 + V27 + 2V/75
ORI,
e GRS
6—V3
12. (8v/3 = 2v/2)(8V3 + 2V/2) 16.
V3 +4
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Write each expression in radical form, or write each radical in exponential form.

1 3
1. 104 2. x5

4769

3. \/?’15 x"y

4.

Evaluate each expression.

oL
5. 3433

.!"‘-I@ b Las s JS dayd 2>
P& 0]

2
7. 1253 .“J;l"
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10. a*xaq2 37. /81¢° 13. /957 FEloss|n. =
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1 _ 1
40 3 v 64 2=-1
30, £ 12. Lx< u. o= 15. &
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Solve each equation. Confirm by using a graphing calculator.

1

1 1
1. Vx—4+6=10 10. 2+ 422 = 7 (4y)3+3=5

=3 12. /2t =7 =t+ 2 25. Vx+6=5—1x+1
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Solve each inequality.

5. V3x+4—-5<4

A Slolaall e JS J5

R2-O— /2y + 13

D \Vd+3+\d+7>4
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